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r J A=z Lrk Ql. The length of a rectangle is increased by
a 60%. By how much percent must its
o/ r=% — .
o breadth reduced so that the area remains
?
L= & :a same:

- . UH ATAd &t Baa1E A 60% &t g e 4t IS
t R e zad! TETe fhda ufderd &a 6t o & 3mad
A > Yo © Uo =)Sjglmmwzg_ B
(A540% (B) 22.5%
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ho/-= & ]
5 Q2. The length of a rectangle is decreased
L . & . by 40%. By how much percent must its
breadth in- creased so that the area
b R ° remains same?

A = | 'S TH ATAd 6 FIaTE A 40% Ht Haft He &1 1)
sqd1 TeTd fhda ufderd ded o & 3maa

= 4
’ \/S &1 A% Ydad 22 -
..f%-)\\oo (A) 26% (B) 45%

- -
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A A = Hbxh
\ Q3. The height of a triangle is increased by
QOI - -é— ) O/ -1

1 20%. By how much percent must its base

reduced so that the area is increased by

5 ¢
| 10%2
L - i v Ao &t Fard & 20% 6 9 He 4 97, At
lo \ mmma}faﬁra}uﬁemﬁWﬂﬁmﬁs
Q W ﬁaﬂmmm%a%’
— (A) 32% (B) 22.5%

="

|
SN0y (C) 37.5%
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40"3)%- y“g].:_l..
> 6 Q4. If rectangles lengths increase 20% and
L > 4 2 .
breadth decrease 16; % then what will be
b 6 s .
B effectin area of rectangle ?
A ! 3TTd ot SaTE 20% TG1 2 AT ML 162 % HA
'5"\)“ ®¢ 2 al TId & AFBS UL T UHTd T2I1 2

(A) 20% increase (B) 30% increase

(C) 10% decrease (D) No change
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Q5. If the length of a rectangle is increased

by 62%% and its breadth is decreased by 7%%
{8‘ Lz Find the percentage changein area.J_3 %.

LI S5 mﬁm@é-%aaiﬁmawiﬁ%ﬁﬂ%%
X = U@ SEase A ufderd ufdads S S

\/ (A) 30% increased (B) 20% increased

ke (C) 40% increased (D) 50% increased
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asl 4T p =
Squsns P :Tﬂx S)nla Q6. If the perimeter of square is increased by

c, &
A > Side 37%% find the % change in its area.
3133 '
% fobelt aof 1 ufRenTa 37-% SgraT ATE, 99 AAwS
N—"
8 N A % ufdadel sira &2

8 N V) 1. 1a
& e (A) 70—% (B) 89—%

ﬁkm 16 ° 1% 16
€y 1y S92
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Q7. In a village, the production of food grains
increased by 40% and the per capita
production of food grains increased by 27%
during a certain period. The percentage by
which the population of the village increased

during the same period is nearest to
TH é@'ﬂ 3dfel & 2RIl TP JTd A, AR B

IdTeal A 40% 61 I g2 30 ufd aafss Arenest &
3dTea A 27% Bt i a1 3 3rafel & FRrat ITa
&6l oreiea A fhd (fAweas) ufdea AR g2 2

(B) 13
©)7
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QY v Q8. Height of a right circular Cone is
decreased by 6.25% and it's radius is

-5 3 ;& | decreased to 15cm.Let the volume of

. 2 cone is decreased by 40% Radius of new

Mol = | cone is how much less than previous

Cone?
N a b oaihle =% uﬁmei’?ﬁMGlS%ﬂzmam
Y e b AT & fAwn uewe 15 Aefl. & wirdl 2 af 2igp &1
2 te - 15 Qylsew ﬂmaam%azwm,a’lme@aﬁgm
- . . Tes A fhaen A g ?
V .

S B A)3cm (B) 5cm
> 5 I S S
€ s
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Q9. In a cuboid if length is increased by
63.63% and breadth is decreased by 41

v %%. Why how much % the height should

be changed that the volume remains
constant ?
Teh HSATH of 39T SIdTs bl 63.63% dal fadr

K}
bo d& 1 3 Lxioo HATATE 3R APE B 41-% HA Fe At A

o9 R 3 A
& - @ L e mm‘%ﬁzgﬁm/ﬁmmmﬁs
V = Q9w A\xay INEX:) (B) 4.09

(D) 5.65
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Q10. In a triangle height is increased by
37.5% and base is increased by 45.45%. then

find the percentage increase in area of

triangle?

v Ao &t Fard A 37.5% 3 e A
45.45% &1 @ I fhe Ryt & daws A
ufderd gfe sia Hifde 2

(A) 200%

(C)125% (D) 150%




s i i
/\ /\ Qll. What is the percentage decrease in

' a the area of a triangle if its each side is
halved?

- | af2 fat Refe1 Ht TS ofei B 3men &

100! fean wiTe, &t 3uS faAws A fhae ufderd

-/ 2 5 Bt g Aresft 2
) 50%

(C) 25% (D) No change
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D = Sidle @ = R7 Ql2. If the diagonal of square is
A = Side” ) decreased by 45%. Find the % decrease

[F& + 8 + F}g)eﬁ in its area?
S afe aof &1 fAwof 45% Ha1 g wrar g, at

_ TASrTMS : —
MS—Us + — 3% S A ufdera st g 2
—Jo + ¢ (A) 75.50% (\ —
“G) =a0x¢
N
£a 1 s-/ ‘ (C) 70.25%

(D) 62.5%
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A + 6 ; _R*B Q13. If each side of a rectangle is
o increased by 22%, then its area will
KRR+ Q4 RxR increase by:
oo afe fdt smaa &t uds oo | 22% &l
Yy 1 uRy qfe: i et 2, ot 381 v A gfeg @t 2
@ (A) 44%
~ (B) 50%
C) 46.65%
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9 Q14. If the length of a rectangle is decreased
_§ "l’(o"; - ‘L by 11% and the breadth is increased by 11%, its

area will undergo:

= U afe amad i SearE 1% HA 2 Ardt € 3 A
. 1% §¢ ATd g, al 3THT Sa%e ufeafdd gom 2
= ‘i; D)-a] /(A)l3 13% increase 4
¢ (B) 1.21% increase x

(C) 1.21% decrease

(D) 13.13% decrease
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@a Q15. The radius of a circle in increased so

A # B that its circumference increases by 15%.
A +84 -

00O The area of the circle will increase by
s His ¢ SRS TP gd &l AR 38 YR g¢ wrdt & afd
20 4 22¢ sadl ufdfel 15% §g =l g9 & dake A
e ufdera gfz aeft 2
= &y / (A) 31.25%
(C) 33.25% (D) 34%
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Q16. Initial length of a rectangular box is

L o+ |3 20cm. This box is remade such that its length
is increased by 30% but its breadth is
L 5 - reduced by 20% .if area is increased by 100
| cm? then find new area of box?

A 5. 2a TS Agarere R &t smfels aierd 20 A 2

=4 3 &l lamrT 38 o Jorran Iran b
AISTE 20% HHA &1 I3 3012

(o3

/: 2600 cm.>
/

$
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Cauvu‘hv’—®@
)20 /- 3 Fis A
i
ol = <
o/ > =
v . 5 ]
v - 5 |
4. = 2
V4

Q17. The radius of a cylinder is increased by
120% and its height is decreased by 40%. What

is the percentage increase in its volume?

vs fAause 6 AT 120% 9 ATdl 2 3T sab!
FaT€ 40% a® HA @ Al 21 THB AT A
wfderd gfg Fan g 2

A) 180.6%

(B) 212.8%
(D) 175.4%
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Q18. If the radius of the cylinder is decreased

by 20%, then by how much percent the height

must be increased, so that the volume of the

cylinder remains same?

afe daa it A & 20% H w3t Hit ardt &, at
Iadht Fard A fbaa ufdera it gfg weedt ailie
drfcs 9ol &1 ATAdl TATA 22 |

(A) 44 (B) 36.25

(C) 56.25 (D) 62.5
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Q19. The radius of a sphere is increased by

140% By what percent will its volume increase?

TS IS & AT B 140% A &2 21 I 2
IHGI1 AT fhda ufdera sifeles & wmean 2

(A) 1282.4% (B) 1382.4%

(C) 274.4% (D) 174.4%
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Q20. Volume of a sphere is increased by 119.7%
when its radius is increased then find %
change in TSA of sphere?

TH IS BT ATAdSA 119.7% d¢ HIdl &, Ad 3qb
fRafc1 & TgraT ATal €, A NS &S THYS & AABS

A ufdera ulRadst sird &el 2
(A) 61.29% (B) 69%
(C) 96% (D) 82.25%




